Math 173 - Quiz 7 Name __Key
March 17, 2016 Score

Show all work to receive full credit. Supply explanations when necessary.

1. (3 points) Find the directional derivative of f (z,y,2) = r2yz — zy?z + zy2® at the
point (1,2,3) in the direction of @ = 3i — j + 2k.

- R A
VEyz) = <9xgz~3 zayz }2 N (xa -Qxxégaexza)d*«-(xag-x\d v Axyz) k
VF(1,2,3) = (19-12418)2 & (3-19+2)5 + (8-4419) L < 188 + 10k

Ds ?(\93% S V?(\aa) W =

2. (5 points) Use the definition of differentiable to show that f(z,y) = 2zy + ¢* is differ-
entiable at any point (z,y).
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3. (2 points) Assume that z’¢** + In(zyz) = 8 implicitly defines z as a function of z and
y. Find 0z/0z. G .
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